= AH O
N = 0 &8 AF S & Al A
20109 = 20Aa LBHSIH THR W ~ WP
A HED
H: NUFMHE Ss(Lerssdd/ ALy - WEXHE)
CHl: XA OHE X &8 (Cte &)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
Rl 2,360,268 2,983,176 A622,908
A= S5 (Lets3Y/NNUYSHH - THEXH) 498,713 401,549 97,164
KAl 2=o Ot N =g 498,713 401,549 97,164
XA 2 150,328 99,120 51,208
101 Q1A H] 10,868 10,045 823
04 JIZHIZ2HEE S 10,868 10,045 823
OXZA BIOHAl - 2H LHZAF Q12 10,868
=J|23 33,6002 x2H x 120 8,064
—F5eag 33,6002 x2H 24 1,613
—A2s2 9,677,000 x12.3% 1,191
201 Lt AH| 48,080 50,100 A2,020
01 AFE222|H] 18,060 20,580 A2,520
Oget42H| 14,220,000 14,220
oag=¢ 840,000 840
O= &l 3,000,0002 3,000
02 22249H4| 30,020 29,520 500
OZ22=2AA 25,720,000& 25,720
OAEEHIS X 4,300,000 4,300
202 O4H| 7,680 9,840 A2,160
01 =2 7,680 9,840 A2,160
OMAMXIZ &0l & 249 Hol HR2XA
7,680,000 7,680
203 HRF=XH| 1,000 1,000 0
03 AIHFRHRF=ZEY| 1,000 1,000 0
OXNEMEHR =X 1,000,000 1,000
303 ZAZ 4,000 4,000 0
01 ZA&2 4,000 4,000 0
ONSRXAL L &2 . 2948 ¢=2 ZAZ
4,000,000 4,000
403 XXM SKE20lE 18,700 24,135 N5,435
02 ZI|ZSOICHEHCHEE AP HI 18,700 24,135 5,435
OEZXNEAM EE2AAE S B
15,500,000 15,500
OSSN LAN BEAAL SX B
3,200,000 3,200
405 XHaHE SHI 60,000 0 60,000
01 RS ZFHSHI 60,000 0 60,000
ODnETRED R 60,000,000 60,000
FEOHAE 2E 102,959 100, 129 2,830




DMt
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- HEX)

D AgA=2 ot A S S &)
Ao+ BB . Sl (3H]) Ly Ao gggf; HRS2
101 o1 24H| 21,169 19,565 1,604
04 JIZtMZ2=zAsE s 21,169 19,565 1,604
OMNEF=HELSTAI EX A 2l 21,169
—JlEg= 00 17 282 15,994
—F5dY 33,600& x17H 5 2,856
—4BE= 18,850,000& x12.3% 2,319
201 dEt24d| 75,310 74,084 1,226
01 AtR22telyl 71,010 69,811 1,199
Odet2H| 67,500,000& 67,500
o2g==g 1,260,000& 1,260
O3 &l 2,250,000 2,250
02 5294l 4,300 4,273 27
OZ2Z222YAHA 4,300,000& 4,300
202 044l 6,480 6,480 0
01 2Wobl 6,480 6,480 0
Olg =8 EHTA & WHXZE 5=
& 6,480,000& 6,480
A A 41,770 55,205 N 13,435
201 dBt24 | 27,230 27,225 5
01 AtS22telyl 15,330 15,330 0
Odtt2H| 13,530,000& 13,530
O3 &l 1,800,000& 1,800
02 =294l 11,900 11,895 5
O2Z222YHA 11,900,000 11,900
202 o4t 8,640 5,880 2,760
01 2L odb] 8,640 5,880 2,760
OMEAM &+ ¥ = 8,640,000 8,640
203 R =&H| 1,000 1,000 0
03 AlBHFAHR =AY 1,000 1,000 0
OMYEAN d==0H =& 1,000,000& 1,000
303 EAZ 4,000 4,000 0
01 ZAZ 4,000 4,000 0
OMY AN &= A 4,000,000& 4,000
405 XH&HFE SHI 900 17,100 16,200
01 AL =EF SHI 900 17,100 A 16,200
OoOXNsEI1E =) 2 300, 000& 374 900
N2l 22| 25,083 18,470 6,613
201 et | 4,710 4,710 0
01 AtR22teldl 4,710 4,710 0
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o NFEWY SHE5(LUTTHF/NLHT - WEA)
Sl RYASO AHE e GRS
_ _ SIEN
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
SEEEET 3,250,000% 3,250
O2Y+g 560, 0002 560
ozl 900, 0002 900
202 01t 2,160 2,760 2600
01 2Uoit] 2,160 2,760 600
OMSI+e DI I+ 2 =2 2,160,008 2,160
403 THXISHHIS KHE 0 8,213 1,000 7,213
02 ZIIZSHHEHS AL Y] 18,213 1,000 7,213
ONLUAAE ST B4 12,000,000 12,000
ON+LHBAIAY DEEAIY 6,213,002 6,213
H28E 29X & 178,573 128,625 49,948
202 01t 5,280 5,280 0
01 =Uoit] 5,280 5,280 0
ONDE DHRE SR =0l 5,280,000%! 5,280
301 YLrBAS 19,893 19,945 AB2
12 JIEHR A S 19,893 19,945 AB2
OHAYHT ZEXS(HSIALTHAAD)
2,700,002 x23] 5,400
OUDE XHEI| HBOX S=H Mg
41,3002 %1102 4,543
OF VAl N (ATSIt AIB) 5,500 500 2,750
OXSOIR L2X HHM 2HA X2
1,5002 1,400 2,100
OHALAIDIE Al 300, 0002 #1771 & ©f 5,100
303 ZA3 3,400 3,400 0
01 Z&3 3,400 3,400 0
ONFYLET 245 1,700,0002 1,700
OHMELN F2aX 2450 1,700,002 1,700
401 AIEHIL 2O 150,000 100,000 50,000
01 Al 148,380 100,000 48,380
ONYNIE2SY S 2420 LAY
148,380, 00024 148,380
03 Al&=THYl 1,620 0 1,620
ONYNIE2SY S 2420 M A
150,000, 00024 +1.08/100 1,620
THAZI2I9 Sl H A2 (LB BTHT/LBa ) 1,746,915 2,470, 160 A723,245
THarzel 1,670,885 2,394,130 AT23,245
3 Arzel 1,038,527 1,384,277 345,750
201 Lpr2 | 308,020 270,000 38,020
01 ALR eIt 28,620 28,620 0
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M A2 B H MR (LT DHE /YA E)
oHel THARZE EER:E]
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Ogst+gH| 24,120,0008! 24,120
o= 1,500,000 1,500
oz e 3,000,000 3,000
02 B2 279,400 241,380 38,020
OZZQ2YHAl 261,400,000 261,400
OAl& =S XY 18,000,000 18,000
202 01| 3,000 3,000 0
01 2UHoit 3,000 3,000 0
OSHEAAES H 3,000,000 3,000
206 T2 H 42,527 8,777 33,750
01 Mzl 42,527 8,777 33,750
O=% ®INE P 5,000
—NpE YD 50,0002 *508¢ A 2,500
—HTS orED) 20,0002 *1007H 2,000
oS 50,0002 108 A 500
OFAtgel o2 7ol 1002 7,553 *55] 3,777
O] P 1,1252130,0007 33,750
401 AlEHIL 20| 670,000 1,100,000 430,000
01 Al&H 662,764 1,089,344 426,580
O=% 2 HM2EA FH| 168, 164,000 168, 164
OSHEA Hy| 276,976,000 276,976
Ogxa 2288 U AR X
49,460,0002! 49,460
O=% 2 MoEA ZH e 19,784,000 19,784
OR2HAL =8 ZZ 2 04Ol BOAL X
49,460,0002! 49,460
OSH st&a s 98,920,000 98,920
03 Al &= CH| 7,236 10,656 A3,420
O=3 2 M2ZAb T
170,000,0002! *1.08/100 1,836
OSHEA Hy| 280,000, 0002 *1.08/100 3,024
OgXa 2288 U AR X
50,000,000 *1.08/100 540
O=% 2 M2EA ZA e
20,000,000 *1.08/100 216
ORI2EAL =8 EX U 04Ol HOAL &X
50,000,000 *1.08/100 540
OS9® &H&A JHE4  100,000,0002 *1.08/100 1,080
405 TtokE S| 14,980 2,500 12,480
01 AU SEFSH| 14,980 2,500 12,480
ORI2E AL SHEA HIG P 500,0002 *8CH 4,000
OFTEND 27 2 2,090,0002 *2CH 4,180
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Herze|et sidMel (Y228
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SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24

SAER D gD 2 3,400,000& *2CH 6,800

g & =25 2el 563,660 507,660 56,000

201 LEH2HH| 221,520 221,520 0

01 AtR22/Hl 3,000 3,000 0
Oget=gH| 3,000,000& 3,000

02 2323l 218,520 218,520 0
OZB22=aLHA 17,520,000& 17,520
OAl & &= XIHl 6,000,000& 6,000
OXtete gth| 195,000, 000& 195,000

202 O4H| 19,280 19,280 0

01 =Wl 2,000 2,000 0

S 2E4R IM 2ESHT NE B

2,000,000& 2,000

02 EAHNYI 17,280 17,280 0
2H2(8Y) 17,280,000& 17,280

301 e84 = 2,160 2,160 0

10 HALAHIZ &3 2,160 2,160 0
SHANE M=l 4 24 2,160,000 2,160

405 AHoHESHI 320,700 264,700 56,000

01 TR =S FH SHI 320,700 264,700 56,000
23X 2 179,000
—2FOI2S+2XE) 50,000,000 +1CH 50,000
—EAg HAX(GE) 68,000,000 *1CH 68,000
—&4H HAX(2.58) 34,000,000 *1CH 34,000
—0 HREXNE 27,000,000 = 1CH 27,000
OXX=AI 2 25,000
—=& % H2EA 5,000, 0002 *2CH 10,000
-—59 5,000, 0002 «3CH 15,000
OdLrgI] 2 24,000
—=2& & M2 A 4,000, 000% *3CH 12,000
—s5Y 4,000,000 *3CH 12,000
O=& MEEZ HIE F#¢ 16,300
— A 270,000 *20H 5,400
— oI Xt 200,000 *30H 6,000
—0lsA NE 120,000& *20H 2,400
—IHHI 250,000 = 10K 2,500
Os% MEE HIE #¢ 21,400
— 4t 270,000 *30H 8,100
— 2 Xt 200, 000& *30H 6,000
—0lsA NE 120,000& «40H 4,800
—IJHHIR 250,000 * 10K 2,500
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A M
A THAr22I 2 S HIA (2 /LB A )
Shel: THar2e cheld A
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% Lsa
O&AH1,22) BIE # 5,000,000& 5,000
ogsEd 2 10,000, 0003 *5I4 2 50,000
I3 MaE 2e| 68,698 502,193 A433,495
101 el H| 12,614 12,242 372
04 JIZtMZ22XsSE+ 12,614 12,242 372
OARE BEST oIl 2,614
—Jl23 39,0003 1 240 9,360
— ==Y 39,0003 1 »48 1,872
—4U02E = 11,232,000 *12.3% 1,382
201 LBty 4,880 4,879 1
01 AFR22lH| 4,880 4,879 1
(@F=R=lE = x| 4,580,000& 4,580
Otz 300, 000& 300
202 O4H| 1,912 1,912 0
01 =LHAbI 1,912 1,912 0
O37Mat AEfE 1,912,000& 1,912
203 HRF&H| 1,000 1,000 0
03 AIMFXNHRFEH 1,000 1,000 0
O==F ek 22| 1,000,000& 1,000
307 gI2told 6,132 0 6,132
05 CIZtRAEZ 6,132 0 6,132
ORTHHSHMI} B2l QI2AS
511,000& = 12& 6,132
401 A &HIYL 2048 42,160 482,160 A 440,000
01 Al&H| 42,160 482,160 A 440,000
OZR M RXNEB= 30,000
—MEE MUHESE I 22| 10,000,000& 10,000
—JIEt N2 S A E= 20,000, 000& 20,000
O=ESMar 2l 12,160
—2YEH Y AL 158,0002+202 | 3,160
— 488 300,000 30 X 9,000
S9st 3 A A2 76,030 76,030 0
Hef & SIHME 2 76,030 76,030 0
201 €Et23| 60,070 60,070 0
01 AbR2t2|H| 45,520 45,520 0
Ogt=ZH| 29,600,000& 29,600
ozdg=¢ 11,920,000& 11,920
OF=3=3:] 4,000,000& 4,000
02 22234l 14,550 14,550 0
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MB A9 SHH (YN RDYE /YN E)
el SHE AKX CEREED
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
O=3SYAHA 3,750,000& 3,750
OA&EHI= Xl 10,800, 000& 10,800
202 (4| 12,960 12,960 0
01 =Wl 12,960 12,960 0
OAH L SAMHR F&A 9,600, 000& 9,600
OZLHA 2R =& 1,800,000& 1,800
SARI g8 F4A 1,560,000& 1,560
301 YptBaszg 3,000 3,000 0
12 JIEtE2 4= 3,000 3,000 0
OFUHUASH BAK 242
20,000& 150 3,000
HY2AZHI (TR (IIEH/DIEH 36,640 36,640 0
ol 4,200 4,200 0
ol 4,200 4,200 0
203 PREXY| 4,200 4,200 0
04 RA2SYALETY| 4,200 4,200 0
ORNMZBZHEZ=AHI 4,200,000& 4,200
Jl23| 32,440 32,440 0
Jle=3d| 32,440 32,440 0
201 LBt 3| 13,240 13,240 0
01 AFR 22| 13,240 13,240 0
Oger=ZH| 13,240,000& 13,240
202 O4Hl 19,200 19,200 0
01 =Wl 19,200 19,200 0
ORML(AM, HOIL B4 S)
19,200,000& 19,200
HREs(HRn) (LSS} E/HE - 2 8) 78,000 74,827 3,173
BHXE 78,000 74,827 3,173
s e 78,000 74,827 3,173
311 XS 0IAt&e 18,000 24,827 AN6,827
06 JIEFX Z0IAtHAHE 18,000 24,827 26,827
OZEAMEH| CHHl &3z Ol Xtat e
18,000,000& 18,000
601 XL S=4E 60,000 50,000 10,000
06 JIEfmUXE SRS &S 60,000 50,000 10,000
O&EAMEH| Tyl &2 A& 60,000, 000& 60,000




